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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
£ill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circles will result in zero mark in that question.
D C B A Questions / = Uiy iA
30 10% 13 13% 0.13 as percentage is : A FEurd0.13 L
* - [T ) 4 T - | i 2
. .5 ; ; . i et Abiic:
c)f.b: ..*w!(d)ﬁl LS U U“")’ u:id_,Uw( C. 2+g J’»—/L(;Z‘— ,E} 2 “ i d
Means Consequent Antecedent Extremes il;lelle%ro?ortton 8 sbre ude" D™ and c" e
5.5% 4.5% 2.5% 3.5% PRUPINLAT AR
Zakat is deducted at a rate of :
0 } D ., e WL PSS WSS fuig e | 8
25% 15% 10% 3% On a crop produced on artificial resources,
Ushr is deducted at the rate of :
; : s N SIS S b
Pl Py e coulll .u,?qfc:..l:‘at/u Laﬁf: -fﬂ?éé—ﬁu /7
“ W /{' 7 The return earned by the bank on loan
Profit Bonus Premium Mark-up is named as :
LFJLV)/PF UJJ}':'JI 35501 250 gﬂf{clr%db?z?/yé:;f);ﬁlid“f ¢
Insurance The company undertaking the act of
policy Insurance Insured Insurer insurance is called :
. i AW I 8 B agt T |7
(.:!_,d_g.l shes K /:F /,5(.( .
A machine installed by the bank to [ <
ATM Card reader Scanner Computer . . ¢
dispense cash to customer is called a/an :
Jﬁm u..&_\i"fn USBK T ! The tax in uggfu&ﬁduu:;&(guf 8
Excise duty Income fax Sales tax Tax addition to the price of the article is called -
: » 1 IJ’U@’?&’Lﬁu]“JJéjvgéﬁfgjgi 9
A ¥t & F “5 i3
oSS d;ub{l V““S'*"’ff’ g The form of a tax :u}:éai‘q_r/
Sales tax Excise duty Income tax Tax which the buyer pays on a manufactured
item at the time of purchase is called :
-e =, . - 10
4 }ﬁd«y/:f usub'.:,c‘ P .
mi Complex Irrational Rational ‘/g 18 q...mL-!x@
Integer number number number
= : e Wb 35 245 Jslﬁﬁ 11
, 545 35 45 R
W3 R V: A What is A.M between 6+/5 and 25
6 9 " 0 et A4S a=nes |1
) Third term of @, =n+3 is :
¢ (ANB)° AS A B¢ A UBC (AUB) =7 13
1 3 4 4 x=? &, y=2 Ut 2x-y="6 4
Fory=2 in 2x—y=6,we have x=7 :

. n 13
b3l ¥ 4 o .lv'.*id/“’ oils H = nl is called: : c‘..L"L!f(JH = -——1~“
Harmenic Mean Geometric Mod }:(——-] Z(WJ

mean od mean H1aae X X

177-0) 8-1(Chjective Type)- 12625

(5260 eHRB—. —§ — 1§




(2017-2019 v 2014-2016 £ &) (< /piiat) ] A,

GENERAL MATHEMATICS (Arts) 1) Fudz
Paper : I (Essay Type) (u‘if( ) -018 GFz0 1 1 5y
Time Allowed : 2.10 hours (o 1) 210 ;=5
Maximum Marks : 60 60 : AJF

(PART I U2 )
12 2. Write short answers to any SIX (6) questions : o Az A2 Ly (6){561( 2

(i) Express % as a percentage. S saeds % )

(i) If f;- of the students in a &y FENE Sy pIun gt % ¢S et G

school have been away for a holiday, how many} "every hundred have been on holiday?

(i11)  Simplify the ratio 8 : 12 in lowest form . A F GIULT 812 = (id)
(iv) Define Ushr. /Y (v

S B ne_,3,00,000 eSSt (V)
(v) Find zakat of silver amounting Rs.3,00,000.

(vi) Define cost price and sale price. & s Flesspedmiared (VD)
(vii) The selling price ._é(:l"‘ufﬁ.:’g g_.{f{ﬁaf@g&w 15 &3}@?&@ 12 (vii)

of 12 articles is equal to the cost price of 15 articles. Find profit percentage.
s T8 = o ibloss « 6% =2sf LgEehosipnd (viid)
(viii) Find the selling price, when discount = 6% , marked price (MP) = Rs.728
(ix) Define current account. ' _é - /.’. S (%)
12 3. Write short answers to any SEX (6) questions : of YT 4 /ﬁ L = lly (6).{9&1’/ 3
e 81.100 wo €A1 6 a3 S A19250 ()
() Convert 250 US dollars to Pakistani rupees if rate of US dollar is Rs.81.100,

(i) Define property tax. : S S u&-ﬁdég (i)
(itt) Define indirect tax. Ay R S A ¢11))
(iv) Solve : 1:)ogg342 2 Gv)
(v) Write 12.35 in scientific notation, uégﬂ(}:]ux L1235 (V)

(vi) Find the value of log 52.13 e edflog 52.13 (vi)
(vil) Define arithmetic mean. ) -é...éf/?;(b:d‘f (viD)
(viii) Find G.M. between 4 and 9. St Lol o nd 9 514 (ViiD)

(ix) Write first three terms of : i oy i ™ : ,f"’égu.:y Wk Lkg (ix)

12 4. Write short answers to any SIX (6) questions : o A2 /‘“? L =iy (6){;&( 4
e ANBIx B={1,3,57,9} »A=1{2,3,5,7,11} /1
(D IfA={2,3,5,7,11}andB={1,3,5,7,9},thenfind ANB
EeAxBIB={3,4} A={1,2,3}.1 (D
(i) fA={1,2,3},B={3,4},thenfindAxB
e BRI R={(1,2),(3,4),(5,6) 10 (id
(1) IfR={(1,2),(3,4),(5,6)} then find domain and range?

(2i5a) LHR~G~1-12



(2)

4. (iv) Define Cartesian plane. -Z-'._g /7 Susst K (iv) 4
(v) Represent D (6,3 )on the graph paper. &=, ;lli;é:f.-...}lf SD6,-3) WV
(vi) Convert 25°C into °F , EEJe S OFS25°C (v
(vii) Find geometric mean of 2, 4 and 8. S Ll AE8 2,4 (Vid)
(viii) Find the range for the data 10, 18, 9, 6, 22 _z-’,»,lvwd’ 10, 18,9, 6,22 s (viii)
(ix) Define variance. o Eufle S ()
(PART —II 1.2 )
Note : Attempt any THREE questions . -ﬂauﬂiauw& c..(jf Ly
4 c;-u(fu:?" 18 _‘,{;21.& 5605U4 7 u.'.'df*«g’....gic.ud/u.rxi’ 20 (D) .5
L B S 12

5. (@) A factory makes 560 fans in 7 days with the help of 20 machines. How
many fans can be made in 12 days with the help of 18 machines?

4 C{i%u 4,00,000 JJ!?UKQJ){U%}?)H»;?_Q%%JLUJ..g/! (- )
el 2 L L pt A
(b) If an amount of Rs.4,00,000 left 45 an - inheritance is to be distributed
among a widow and four daughters,workout the share of eacie
4 Eiunl S Sl a1 ($h by §ars7,50,000 dtutiinf ST (D) .6
-%2:3:5 aﬂgﬂu:"ﬁw)’l_?f_f(rt’”ﬂb’ugﬂuf
6. (a) If Ali, Daniyal and Abdullah earn .. 15% profit against an investment
of Rs,7,50,000, rind the profit of each if their shares are in ratio 2 : 3: 52
4 BB nile U f 6% &I 4 4 s600 (&)
(b) Find compound profit on Rs.600 for 4 years @ 6% per annum.
4 (2B SUEA S0 Liin 16%L SoSEX S 03500 2SS4 L (D) 7
| G GSBE
7. (a) The price of a bicycle is Rs.3500. If 16% sales tax is charged, then
calculate the amount of sales tax on 50 such bicycles?
4 (b) Evaluate using logarithm table : 25 sl dugﬁ/ K4 (=)
25.36 x 2.4569
847.5
4 ek AL Oend 601486 (D) 8
8. (a) Insert three G.Ms between 486 and 6.
ZotiB=1{6,89)sA={4,6} U={4,689,10}/1 ()
4 (AU B = A€ ~ B¢
(b) IfU=1{4,68910},A={4,6)andB={6,8,9} then verify
(A4u B = A ~ B¢
4 b S¥C(1,8)4B(7,0) AC2,0)56 (D) 9
9. (@) Draw the graph by plotting the points A (2,0),B(7,0)andC(1,8)
4 S el 2bsh € 3,5,6,8,8,9, 100 ()

(b) Fordata3,s,6,8, 8,9, 10, find mean, median and mode.
177-018-1-(Essay Type)-50500 £LHR - F =/
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Note : Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that circle in front of that question with Marker or Pen ink in the answer-book. Cutting or filling
two or more circies will result in_zero mark in that question.
D C B A Questions / = Ui¥ Tk
_ » AP 2 e P PG |
M“"’J T W - W -
Bill of I3l e sile The instrument for gL i
Bank draft Cheque Pay order | payment order is issued by a bank on the
exchange ; >
request of customer is called :
- Jo » N NT]
ﬁ/ﬁ Sl DS Brnl OaS Lol wgfmkﬁyljﬁ”’"ﬁ—f’ 2
" . . ’ Taxes of the form of duties, motor vehicle
[ncome tax Property tax Direct tax Indirect tax | yaxes are called :
20 23 19 3 ag of 3,7,11-—is : :q_.l..falsd/?;, 7,11 - 3
ol lv:&}/-" i Lot IQ.JMLT.:‘-‘/n&}L.?/UCJFf&:?QEv 4
Geometric & . The score which occurs most often in a
Mkl mean Median Mean set of data is called :
e Wb L 2VS 141645 |3
5| s | | e el
A.M between 6\/§ and Z\E is:
200 20 120 12 20% of 600 is : : <20%6600 ¢
) s (a7
5.5% 2.5% 3.5% 4.5% PRNNTE
Zakat is deducted at a rate of :
« - A = . i - ¥ ’ i be > .3 8
O W FYI00) =3 e A7 = ) "*""d!k'_("l?d"{’/é'g4u)“’g”
2 . The price on which an article is sold out
Profit MP SP CP is Ca“ed .
5 « 1.5 s Y =19
d!.'j;t—g u-“5-'-','»'(' L)""S"'j-:-v’lﬂl—f d‘s‘-”fk é'w"f %wkﬁéd* PMJL’-"VJ?UM’
: ‘ . The tax charged on all the taxable
Excise duty Income tax Direct tax Sales tax income is called :
A = - JA= {4} U=1{1,2,3,4} 1 |10
(L2354} {123 ¢ {1,2} | fU={1,2,3,4},A={4} then
A W
P : Ford | L P L LY 1000 | 1
-~v S The logarithm calculated in base <107
Natyfai Characteristic Caimion Mantissa is called :
number 5 logarithm isca :
i1 s s A BVt fa b i
Consequent Mean Antecedent Extreme Inaratio a:b, “b”iscalled :
e lout y;JI/rui(ﬁJ y=C bl 13
¢ 0 -1 I Graph of the equation y = ¢ have
y-coordinate :
PRIALACI SRR 14
15000 2000 25000 2500 107 Ua3441,00,000
Zakat on an amount of Rs.100,000 is :
. ; o e b At bl sz re s i1
3‘3’ UJ-".J #4 -:"H(JL ..u‘}c‘{c..l é-r/JJVV.I’hdc.H 18L& Ve
. ; . The return earned by the bank on loan
Profit Bonus Premium Mark-up o mamed ag
[78-018-11(Objective Type)- 20250 (5266) &#R.—Q—-2 —18
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( PART -1 Jst.® )
12 2. Write short answers to any SIX (6) questions : & opiz AL oy (6)4’;&1 2
(1) Define proportion, it @
Y ol s St E Tt S 82%1 (i)
(i1) If 82% of the houses have a television, what percentage do not have?
(iii) Express 56% as fraction in its lowest form. _ef-fuy.u:f uL«TJ / ¥56% (i)
gyl 484 5:5,00,000 Gv)
(iv) Calculate the amount of Zakat on an amount of Rs.5,00,000
: -éf’:l”/“.;é;u 6,00,000 C‘fLJdJJslgsﬁi&.c,gU}g.fﬁ (v)
(v) Calculate Ushr on a rice crop produced by natural resources amounting to Rs.6,00,000
(vi) Define loss. Ay Sl (v
| % =Cs672 ==drped fEpssed (viD)
(vii) Find C.P. when S.P. =Rs.672 , profit = 5%
w4 =oAL 32400 =t GEE P el it (Viid)
(viii) Find the marked price when SP = Rs.2400 , discount =4%

(ix) Define bank draft. EEw s (x)
12 3. Write short answers to any SIX (6) questions : & iz L iy (6){:‘..63( 3
(1) Define mark-up and down payment. _iﬂ 7 it ..uf'e‘:..c)ilbsf:,i_ﬁi. (1)

S Wl P Il e JEF DS 16% g 43480028 0pd L1 (D)
(i) A computer price is Rs.34800 inclusive 16% sales tax. What is the original price
of the computer?

(iii)  What is meant by personal income? el A 34T GiD
(iv) Solve : logg(x +3) =2 | 22 ()
(v) Simplify : ah cah A W)
(vi) Solve : log s : 22 (i)
log4 :
(vii) Find first three terms of a,=3n~5 -éf}l” 2 2L g, =3n-5 S (vii)
(viii) Find AM. between 7 and - 3 . e LGt nd =3 a7 (viid)
(ix) Find G.M. between 2x? and 81" . e ad o sl 8yt 2kt (%)
12 4. Write short answers to any SIX (6) questions : o Az A2 L ety (6)‘:::.43/ 4
(i) Define union of sets. _a{.@iJufgﬁu;f §);

A=1{2,357) 4 U={1,2,3,4,5678} Jiepb 4n4° GD
Gi) TfU={1,2,3,4,5678} andA={2,3,57} thenfind A 4°
P AxB I B={1,3)« A={3,56}/1 (i)
(i) If A={3,56),B={1,3},thenfind 4x B

(213,) LHR~G= Lt &



(2) |
S ST 86°C Lnl S sk (V) -4
4. (iv) Convert 86°C to °F by using formula.
b ym IS TAG -2 W)
(v) Draw the point A ( 3, -2 ) on graph paper. .
(vi) Define horizontal and vertical lines. J’"_: Y S St P (Vi)
- (vii) Define arithmetic mean. -Efil._i; 7 S bstdl> (vid)
(viiD) Find mode of the data 6,2, 4,3,4,5,4,5 & #k6,2,4,3,4,5,4,5 (viil)
(ix) Find the range of data 10, 18,9, 6, 22 & e §10,18,9,6,22 (%)
(PART -1I 5.2 ) '
Note : Attempt any THREE questions . -«"_n'cfylﬁ‘f.aﬁlrd c;.(jf T
¢S AP a029und 422000 F20 (9) 5
5. (a) The price of 20 pens is Rs.2000. What will be the price of 40 such pens?
e LS e SIS 1P §2e2,24,00,000 8T ()
4 (b) A person left a property of worth Rs.24,00,000. -é (}1”‘ 2 oi:..{l
Calculate the amount of share of his wife, a son and a daughter.
L S eS8 T w8 40 67200 SEIE LS (D) 6
| Unl 2l e LU L
6. (2) Three members of a firm, divide the profit Rs.67,200 among
themselves in the ratio of 2 : 3 : 7. What is the biggest share of the profit?
02l 1g /850 Sk 3 Sotra g 16807 1L14TWT Caned” (&)
(b) At what amount rate of profit would a sum of Rs.680 will increase
to Rs.850 in 3 years and 4 months? ' '

L 155 Sme U P 16% (0,000 2E SRS () T
S S ¥t SRy

7. (a) Ifthe price of an air-conditioner is Rs.40,000, then workout the amount
of sales tax on it at the rate of 16%? Also calculate the price of an
air-conditioner with sales tax.
(b) Solve it by help of logarithm : AP J(E)I?’J («)
25.36x2.4569
847.5

_Z;Jbsg}ﬁﬁJuy;}i 81.43 (H) .8

8. (a) Insert two G.Ms between 3 and 81.

C={2,3,4,5,6}mB={1,3,5,7}:A={2,3,5,7,9}fl ()
4 (ANBYNC & T

) IfA={23,579),B={1,3,57}andC={2,3,4,56} then
find AN B)nC
9. (a) Draw the graphof y = 4x+1 -é.a_jifl{y =4x+1 () 9
L8 A¥2,3,6,8,11 (o)
(b) Find the standard deviation of the values 2,3, 6, 8, 11
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